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1= +p, V3=V + Vi W3 = lw; + U0, (2.45)
q21 = (1)2 X Vl - (1)1 X VZ\ T3 = (V21 - VN3 + n X (1)21) (246)
§3=—(-qz1)/(vz1 " T3) (2.47)
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ki = (W31 X V31)/V21? = Voq X (Vo1 X Q1) /{(&3 + 1) (v212)?}  (2.48)
ky = (w31 X V1) /Vo1® = Va1 X (Va1 X G21)/{(§5 — 1) (v212)?}  (2.49)
ks = (021 X V21)/Va1? = Vi X (Vo1 X q21)/{83(v21%)?} (2.50)
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o3 =1/(& + p2) = 1/{—(n- qz1)/ (V21 - T3) + p2}.
o3 = —1/(& —p1) = 1/{(n - qz1)/ (V21 - T3) + pq} (2.51)
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ho1 = — 1320 - q21) /{2 (Va1 - T3) — (- Q2 ) Hia (V1 - T3) + (0~ q21)3]
(2.52)
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(f (xo) = £ (x1)) (1 — x2) n (f (x2) = £ () (1 — x0)

(%0 = x1) (%0 — x2) (32 = x1) (2 — x0)
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sine (78) % coso (IF) ICETIELE,

coso = (n-0Q)/r (10)
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